
Nº  PIECE QTY
1 Spring lever 1
2 Adapter 1
3 Fric ion bush 1
4 Screw M5 1
5 Nut M5 1
6 Washer M5 1
7  Lever 1

MOUNTING INSTRUCTIONS 

BRAKE LEVER 

6
2

5

4 3

1

7

3

1

4

2

GREASE

MICRO !

7KLV�SURGXFW�VKRXOG�RQO\�EH�LQVWDOOHG�E\�D�VNLOOHG�PRWRUF\FOH�
PHFKDQLF.�,I�\RX�DUH�QRW�TXDOLILHG�WR�GR�WKH�MRE��ZH�VWURQJO\�
UHFRPPHQG� KDYLQJ� LW� GRQH� E\� D� VSHFLDOLVW� PRWRUF\FOH�
ZRUNVKRS.

Picture 1�� )LUVW� XQVFUHZ� DQG� UHPRYH� WKH� EHDULQJ� SLQ.� ,W�
PD\� EH� KHOG� E\� D� WKUHDG� LQ� WKH� OHYHU� DVVHPEO\� LQ� DGGLWLRQ�
WR� WKH� FRXQWHUQXW.� :KHQ� \RX� UHPRYH� WKH� OHYHU�� FKHFN�
ZKHWKHU�LW�LV�ILWWHG�ZLWK�D�WKLQ�VSDFHU.�,I�VR��GR�QRW�ORVH�LW��DV�LW�
PD\�QHHG�WR�EH�UH�ILWWHG.�

Picture 2��:KHQ�LQVWDOOLQJ�WKH�EUDNH�OHYHU��SOHDVH�PDNH�VXUH�
WKDW�WKH�SUHVVXUH�SLQ�RI�WKH�PLFURVZLWFK�LV�QRW�WUDSSHG��DV�LW�
PD\�EH�GDPDJHG��DQG�WKH�EUDNH�OHYHU�PD\�MDP.�

Picture 3��,I�D�EXVK�����IURP�WKH�RULJLQDO� OHYHU�KDV�WR�EH�UH�
XVHG��LW�QHHGV�WR�EH�FOHDQHG.�*UHDVH�WKH�EXVK�DQG�VFUHZ�����
OLJKWO\��DQG�OLNHZLVH�WKH�FDP�RI�WKH�QHZ�OHYHU�DQG�WKH�FRQWDFW�
SRLQWV�ZLWK�WKH�DVVHPEO\�RQ�WKH�WRS�DQG�ERWWRP�VXUIDFHV�RI�
WKH�OHYHU.�

Picture 4:� 6FUHZ� WKH� QHZ� OHYHU� WLJKW� ZLWKRXW� XVLQJ�
H[FHVVLYH� IRUFH�RU� MDPPLQJ�� WKHQ�FKHFN� WKDW� WKH�EUDNH�DQG�
EUDNH� OLJKW�VZLWFK�RSHUDWH�SURSHUO\�DQG�WKH�ZKHHO�FDQ�URWDWH�
IUHHO\.� 7R� GR� WKHVH� FKHFNV�� \RX� QHHG� WR� UDLVH� WKH� IURQW�
ZKHHO�� H.J.�ZLWK�D�SDGGRFN�VWDQG.� ,I� WKH�ZKHHO� LV�EUDNHG�� LW�
PD\�MDP.�7KDQN�\RX�IRU�\RXU�DWWHQWLRQ.�



1

4

72

3

6
8

MOUNTING INSTRUCTIONS 

CLUTCH LEVER

Nº PIECE QTY
1 Spring lever 1
2 Adapter 1
3 Fric ion bush 1
4 Screw M5 1
5 Nut M5 1
6 Washer M5 1
7 Lever 1

21

54

3

GREASE

MICRO !



This product should only be installed by a skilled motorcycle mechanic. If you are not qualified to do the job, we strongly recommend having it done by a 
specialist.  

Picture 1: First unscrew and remove the bearing pin (4). It may be held by a thread in the lever assembly in addition to the counternut (8). When you remove the lever, 
check whether it is fitted with a thin spacer. If so, do not lose it, as it may need to be re-fitted.  

Picture 2: When installing the clutch lever, please make sure that the pressure pin of the microswitch is not trapped, as it may be damaged, and the lever may jam. 

Picture 4: If a bush (3) from the original lever has to be re-used, it needs to be cleaned. Grease the bush and screw (4) lightly, and likewise the cam of the new lever 
and the contact points with the assembly on the top and bottom surfaces of the lever. 

Picture 5: Screw the new lever tight without using excessive force or jamming, then check that the clutch and microswitch operate properly. Thank you for your 
attention. 

Ref.
5454
N
LEFT 
SIDELINKS 

SEITE

 CLUTCH LEVER 

Find more Puig products on our website. Check out a selection of motorcycle handlebars and controls in our online store.

https://www.motorcycleid.com/Puig/
https://www.motorcycleid.com/handlebars-controls.html



